RESOLUTION NO. $\frac{1}{6}$ - $\frac{1}{3}$ CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER (Faul Gristam ON THE 18th DAY OF Jebruary, 2013.

> A RESOLUTION ACCEPTING THE BIDS SUBMITTED BY O'HEIL DBA BUCKEYE LAWN AND LANDSCAPING OF DAYTON, OHIO AND LANDFORM SERVICES OF FAIRFIELD OHIO FOR THE MAINTENANCE OF CERTAIN SPECIFIED CITY PROPERTIES DURING 2013 THROUGHOUT THE COMMUNITY AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO CONTRACTS IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for the maintenance of certain specified City properties during 2013 throughout the community, pursuant to specifications prepared by the City; and

WHEREAS, O'Heil dba Buckeye Lawn and Landscaping of Dayton, Ohio, was the low and best bidder for Groups A, B, and C mowing, and

WHEREAS, LandForm Services of Fairfield, Ohio was the low and best bidder for Group E mowing, and

NOW THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by O'Heil dba Buckeye Lawn and Landscaping of Dayton, Ohio. marked Exhibit "A" for Groups A, B, and C for a total bid price of \$1045.00 per mowing, attached hereto and made a part hereof, is hereby accepted.

<u>Section 2.</u> That the bid submitted by LandForm Services of Fairfield, Ohio. marked as Exhibit "B" for Group E for a total bid price of **\$237.00** per mowing, attached hereto and made a part hereof is hereby accepted.

Section 3. That the City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payments pursuant thereto.

PASSED this 18th day of Jebruary, 2013.

Mas Kuepeg

Mayor of the City of Centerville, Ohio

ATTEST: amer) Clerk of Council, City of/Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number $\frac{(\rho-1/3)}{\rho}$, passed by the Council of the City of Centerville, Ohio on the $18^{-1/2}$ day of 4e bruary, 2013.

ames) Clerk of Council /

η.

City of Centerville, Ohio

Approved as to form, consistency with existing ordinances, the charter & constitutional provisions. Department of Law Scott A. Liberman Municipal Attorney

EXHIBIT "A"

PAGE 1 of 3

BIDDER'S PROPOSAL SHEETS

LAWN MOWING - 2013

(MAINTENANCE OF CERTAIN SPECIFIED CITY PROPERTIES) Ohio Irrigation Lawn Sprinkler Systems Inc

DBA: Oheil Irrigation, Buckeye Lawn & Submitted by: Landscaping, Oheil Site Solutions

Having read the specifications and examined the intormation contained herein:

Lawn Mowing - 2013 (Maintenance of Certain Specified City Properties) **City of Centerville**

for the performance of said work in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby proposes to furnish all equipment and material and to perform all labor as specified and described in the said Specifications and as shown in the Plans for the said work, for the period of time specified, for the following sums. The signer further understands that they may bid one or all groups and that the City may award one or all groups to a bidder or bidders, depending upon the result of the bid tabulation. Furthermore the signer understands that unit prices are required for each parcel within each group bid. Failure to submit prices for individual parcels will result in the bid being rejected.

STATEMENT BY ALL BIDDERS Α.

The receipt of the following Addenda to the Contract Document is hereafter acknowledged.

Date_____ Addenda No._____

Addenda No._____ Date

BID INFORMATION Β.

Bidders shall provide prices for each task and each parcel within each group bid upon. Contract awards will be made by group. Payment will be made by parcel.

UNIT PRICE SHEETS (see Sheets 2 of 3 and 3 of 3)

COMPLETION DATE INFORMATION C.

The bid price reflected above represents performance of the work typically between April 1st and December 15th, depending on actual weather conditions.

-'		SHEEI				Page 2 of 3
PROJ	ECT NA	AME: Lawn Mowing - 2013				1
		PROJECT NUMBER:				
TUE	CITY O	F CENTERVILLE MATERIAL AND CONSTRUCTION	DAL CRECH	ICATIO		COE THUS DRODOG
AND	MAY BI	E REFERENCED FOR A MORE COMPLETE DESCI	JN SPECIE	F THE I	NS ARE PART	D RETURN ONE (1)
COM	PLETE	D COPY OF PROPERLY SIGNED PROPOSAL TOG	ETHER WI	TH THE	EXECUTED	FORMS.
REF.	PARCE NO.	L DESCRIPTION	EST'D	A LA LA DO	UNIT	AMOUNT
NU.	NO.	GROUP A - MOWING	QUANT.	UNITS	PRICE	BID
A	1	Rahn Road	27	EA	7.0	100-
A	2	Whipp Road	27	EA	<u>70</u> 26	1890
A	3	Wilmington Pike	27	EA	200	540
A	4	Clyo Road except Forest Brook Blvd	27	EA	265	5400
A	4(a)	Forest Brook Blvd	8	EA	40	720
		TOTAL FOR GROUP A - MOWING		2011	10	15,705-
1			1			
		GROUP B - MOWING	1			
В	5	Bigger Road	27	EA	72	1944
B	6	Alex-Bell and Loop Roads	27	EA	110	2970
B	7	Far Hills Avenue/ State Route 48	27	EA	65	17 55
		TOTAL FOR GROUP B - MOWING				6669-
		GROUP C - MOWING				
C	8	South Main Street/ State Route 48	27	EA	115	3105
C	9	Yankee Trace area	27	EA	38	1026
		TOTAL FOR GROUP C - MOWING				4,131
		GROUP D - MOWING				
D		There is no Group D included in this project.				
		GROUP E - MOWING				
E	13	Architectural Preservation District	27	EA	2 2 6-	
E	13	APD public parking lot areas	27	EA	225	6.075
		TOTAL FOR GROUP E - MOWING	21	EA	60	1620
						7.695-
'ON'	TRACT	PREPARATION INFORMATION	+		and the second	
	10.00			LL		
ne bio	ider snall	supplement the proposal by supplying the following information	for use in the	e preparatio	n of the Contract	L
OMP.	ANY:	Oheil Irrigtion Buckeye law	der			
Y:		Daniel Marciniak				
TTLE:	10/14-75 11					
		Sales manager	1			
DDRI	ESS:	2109 EAST SOMIAL ROW Rd				
		Centerville oh 41458				
PHONE:		637 - 432 - 9411				_
AX:		937 - 432 - 9433				
MAIL		Daniel Doheilsite solutions. co	in			
CDCD	AL TAX					

<u></u>		Page 3 of 3
EXEC	CUTION OF PROPOSAL	
NOTE	Failure to sign the proposal shall result in rejection of the bid.	
THIS F	PROPOSAL SUBMITTED BY:	
	NAME OF CONTRACTOR	
SIGNA	TURE: Name Manue	
DATE	2-5-13	
Contac	t person for contract processing: Leslie Curry	
Mailin	g address if different from above: Same	

.

EXHIBIT "B"

PAGE 1 of 3

BIDDER'S PROPOSAL SHEETS

LAWN MOWING - 2013 (MAINTENANCE OF CERTAIN SPECIFIED CITY PROPERTIES)

Submitted by: <u>LAND FORM</u> Having read the specifications and examined the information contained herein:

Lawn Mowing - 2013 (Maintenance of Certain Specified City Properties) City of Centerville

for the performance of said work in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby proposes to furnish all equipment and material and to perform all labor as specified and described in the said Specifications and as shown in the Plans for the said work, for the period of time specified, for the following sums. The signer further understands that they may bid one or all groups and that the City may award one or all groups to a bidder or bidders, depending upon the result of the bid tabulation. Furthermore the signer understands that unit prices are required for each parcel within each group bid. Failure to submit prices for individual parcels will result in the bid being rejected.

A. STATEMENT BY ALL BIDDERS

The receipt of the following Addenda to the Contract Document is hereafter acknowledged.

Addenda No._____ Date_____

Addenda No._____ Date_____

B. **BID INFORMATION**

Bidders shall provide prices for each task and each parcel within each group bid upon. Contract awards will be made by group. Payment will be made by parcel.

UNIT PRICE SHEETS (see Sheets 2 of 3 and 3 of 3)

C. COMPLETION DATE INFORMATION

The bid price reflected above represents performance of the work typically between April 1st and December 15th, depending on actual weather conditions.

JIVÎ I	PRICE	Sheel				
ROJ	ECT NA	ME: Lawn Mowing - 2013				
		PROJECT NUMBER:				
ND	MAY BI	F CENTERVILLE MATERIAL AND CONSTRUCT E REFERENCED FOR A MORE COMPLETE DES D COPY OF PROPERLY SIGNED PROPOSAL TO	CRIPTION C	OF THE	TEMS LISTED	. RETURN ONE (1)
	• • •					
	PARCE		EST'D		UNIT	AMOUNT
NO.	NO.	DESCRIPTION	QUANT.	UNITS	PRICE	BID
-		GROUP A - MOWING		EA	120.00	2510.00
A A	1	Rahn Road	27	EA EA	130.00	3510.00
A	3	Whipp Road Wilmington Pike	27	EA	65.00	1755.00
A		Clyo Road except Forest Brook Blvd	27	EA	260.00	7020.00 9855.00
A	4(a)	Forest Brook Blvd	8	EA	172.00	1376.00
~	-1(4)	TOTAL FOR GROUP A - MOWING	0		112,00	23516,00
		TOTAL FOR GROUP A- MOWING				25516,00
		GROUP B - MOWING				
B	5	Bigger Road	27	EA	108.00	2916,00
B	6	Alex-Bell and Loop Roads	27	EA	195.00	5265.00
B	7	Far Hills Avenue/ State Route 48	27	EA	130,00	3510.00
-		TOTAL FOR GROUP B - MOWING			1.50,00	11691.00
						1.011.00
		GROUP C - MOWING				
C	8	South Main Street/ State Route 48	27	EA	151,00	4077.00
С	9	Yankee Trace area	27	EA	86.00	2322.00
		TOTAL FOR GROUP C - MOWING		1		6399.00
				1		
		GROUP D - MOWING				
D		There is no Group D included in this project.				
	P	GROUP E - MOWING				
E	13	Architectural Preservation District	27	EA	151,00	4077.00
E	14	APD public parking lot areas	27	EA	86.00	2322.00
		TOTAL FOR GROUP E - MOWING				6399,00
CON	TRACI	PREPARATION INFORMATION				
The bi	dder shali	supplement the proposal by supplying the following information	tion for use in th	e preparat	ion of the Contract.	
				1	1	
COMP	ANY:	LANDFORM SERVICES		1	1	
BY:		PATRICK ANGEL				1
FITLE		GROUNDSCARE GROUP LEADER				1
				1	1	
ADDR	ESS:	1485 Symmes ROAD		1	1	1
		FAIRFIELD OH 45014				
PHONE:		513 - 939 - 1100				
				1		
FAX:		513-939-1731		1		
EMAI	L:	pangel @ land Form team, com	_			
PEDE	RAL TAX					

EXECUTION OF PROPOSAL	Page 3 of 3
EXECUTION OF PROPOSAL	
NOTE: Failure to sign the proposal shall result in rejection of the bid.	
THIS PROPOSAL SUBMITTED BY:	
NAME OF CONTRACTOR	
SIGNATURE: hit Home	
DATE: 1 2-4-13	
Contact person for contract processing: PATRICK_ANGEL	
Mailing address if different from above:	

K

ب